pl=nlpA=k FR2sE4 B 1 BBE
X % A ) ———
TRER e 13 11 2 11 2
N ek s 15 15 0 11 4
wigE 9 9 7 2
s MEE 4 4 3 1
% FESS A0 2 2 1 1
(B EE 4 4 4
BT BGE 5 5 5
R 9 5 4 8 1
BER 19 19 14 5
z |BEEE 8 8 7 1
B |ERILER 8 8 7 1
s |MUERR 6 6 4 2
mRE 15 14 1 6 9
2R 57 12 45 9 50
124 ER 12 12 7 5
| = FETXEEVS— 1 1 1
£l a RE 44 44 2 44
x| m [BRIEER 21 21 3 18
x| B BB HEERR 14 14 14
| B REXEE 7 7 3 4
% ke 14 6 8 13 1
" REXRE 5 5 4 1
H )=t B— 5 1 4 5
£330 4 4 4
& |EHKERR 1 1 12 2
= EMIKER 10 10 9 1
= KERBEE 4 4 3 1
T ABEIE 8 8 7 i
&2 [EXRE 14 14 12 2
% |HHEERE 10 10 8 2
B | ETFKEE KEEBECEE
#  [Hhigt iR EI5R 11 10 1 8 3
M AR 9 9 5 4
F i B R 8 8 6 2
=ETER 4 4 2 2
mEEEEt 268 207 0 16 45 158 112
R 14 6 8 8 5
# PR 6 6 5 1
B INEREER 8 8 3 5
ES PREEG 4 4 2 2
8 EEFER 14 14 0 0 0 7 7
E=3 HEZER 8 8 5 3
E HIKELE 5 5 1 4
% I PRIRIEEE 1 1 1
R Xk 0
5
BEZESEEE 32 24 0 8 0 17 15
i m Be 185 17 168 0 0 49 136
P EX o 17 17 8 9
P =R 17 17 16 1
= EEATE 37 37 17 20
B & LM 111 114 8 106
§ EFTRKEE 15 13 2 14 1
z KEEERBE 15 13 0 2 0 14 1
E -t Yea-lo 5 5 4 1
EXZESEHHB 3 3 2 1
é"’*iﬂ%é EREE 1 1 1
EZEEHEIB 2 2 2
B Hill 511 272 168 26 45 245 268

X BB E—RRg. R AB ke k—CBlag. B

B

BR-IAXR . HKFH
mR, TR EEREFT.

RIEA,

BER-EBER.

RS R T Rk, Erib R B MKE R

BEXF R ER




